
I
i)'-''"i':j

ffi$ffiffiffi*i#u'
u** lil)*'t' I6MBAFM406

)'',r

I ihfaf'/. itir.{ir{"litl*{-, . \('ii:",'lr

fltg systems should AngelVenture ask for?

investment value?

"-.(r.{''..
Fou rth Sem este r MBA Deg ree,Eq{h*'i'"ution, Ju ne/July 20 I 8

Gorpor"ttt:$ts,uation
,' r \\'" /

,.Jt'i)ti Max. Marks:8oTime: 3 hrs. (.riii'
Note: l. Answer any $il{R-full questionsfrom Q.No.l to Q.No.7.

2. Qu estioa-,nviili{X comp uls ory.
3. PV raQl$qiloila be,ollowed

,'\'t" ,-rt'
I a. What are the sourceqd*\iri'c'ertainity in valuation? (02 Marks)

b. What are the impori\htivpes of intangiable assets? How are they valued? (06 Marks)
c. XYZ Ltd is alr;uflI{btbd company engaged in the manufacture of industrial chemicals. XYZ

itl;
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c. XYZ Ltd it u;tr:Uqlll,tbd company engaged in the manufacture of industrial chemicals. XYZ
has a debti-e*$ii{f,tatio of 0.8 and a tax rate of 30%. There are 3 listed firms AB, MN and ST

lnqaee$,{lb..lnilar 
steel business. Their equity betas, debt - equity ratios and tax rate are as

follo

:\.

Comndrlv Eouitv beta Debt-Eouitv ratio Tax rate
.i$-AB t.20 1.2 30o/o

\+ MN t.l0 l.t 30v,
ST 1.05 1.2 30%

tqorpr- ..ii..
| 11:i 48 | r.zo I t.z I tou" I o,',',,

, ,'.'. ., ..

' l\.[] ST I l.os | 1.2 | 30% ) r'' '

What is the equity beta for XYZLtd? ... ii[bg$Iarks)
,;. "",

What are the best practices with respect to multiples? ,, (:j.,: (02 Marks)
The current dividend on equity shares of Divya Ltd is Rs. 2 and Diyy.*Lid is expected to
enjoy an above normal growth rate of 20o/o for a period of 6 years, thpheq&er growth rate will
fall and stablise at llYo. The equity investor requires a return qt.[r{%,fwhat is the value of
equity shares of Divya Ltd? .\$i)o (06 Marks)
piscuss briefly the j broad approaches for valuing "ornpury-.\\il,)'"' (08 Marks)

.,uH)\
What are the important difference between valuing . t3,r\&\iiand valuing a project?-

. ,.,(,11 ^^^^ 102 
M:Iks)

Angel ventures, a PE investor is considering invesi.lihg:Rs.3000 million in the equiiy of Delta
systems, a start up IT company. Angel's requfud\ r"ttiln from this investment is 35% and it is
planned holding period is 5 years. Delta an EBITDA of Rs. 4000 million for
year 5. An EBITDA multiple of 6 for considered reasonable. At the end of year 5,

2500 million and a cash balance of Rs.800Delta systems is likely to have a

million.
(i) What ownership s

(iD What is the
(iiD What is the

vestment value of the firm's equity?

Analog Limited is co.np capital project for which the following information is

(06 Marks)
c.
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" i!\ ''What are the key value drivers of free cash flo1Ea)iJ"' (02 Marks)

The following information is available for \!.$"$hipany:
ROE = 20Yo, Cost of equity = l5%o, tr$,t;'"'
Dividend payout ratio : 0.4, Book valge$- Share = Rs. 50. Net profit margin : l0%o

Calculate the followine for MN conindny:'
" -$.),''D D zlr D''*(i) + (ii) ro r;;\l/i$a (iv) PEG (v) Valueratio. (06Marks)

br Bo 
^ 

't{)t*So
c. What are the guidelines beiirfi'mind while doing corporate valuation? (08 Marks)

,.i5')i>
.ri:.r):,.

List the key steps lr)*iXda in the Marakon approach. (02 Marks)

The curreni Ci}teiilU"on an equity shares ofitrrtC computers Ltd. is Rs. 3. The present gronrth

rare is 507p,:i{b#6ver this will decline linearly over a period of l0 years and then stabilizp rt ,-
l2%. \Uiat$s. ihe intrinsic value per share of IMC computers Ltd. using H model, if investors \-/
requir$;il+eturn of 16%? (06 Markp) a
Ihq p.odt and loss A/C and Balance sheet of Keerthi corporation for two years dre gi\tfiv\)c. tlo profit and loss A/C and Balance sheet of Keerthi corporation for two years dre gi\tfiv\)'

',Qb,l-ow: ;,r1.;
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"'- \ \.". , i: .., '\t,';" P &L NC (Rs. in million) ." {..* 
"}

P &L NC (Rs. in million
2016 2017

Net sales 5600 6440
Income from marketable securities 140 210
Non-ooeratins income 70 14O",.

Total income 5810 6{eD
Cost of soods sold 3220] 3Y80
Selline and administrative expenses 70,$r )7.70

Depreciation .35S-": 420

Interest exDenses {: r'5O 392
Total cost and exoenseS ,fi- t4606 5362
Profit before tax ,h ilY.' t204 1428

Tax provision (i r; 364 448
PAT ..- -''i) 840 980

Dividend ^\l'Y," 420 560

Retained earn in gs\St-/ 420 420
r1

| lvrv I lvil I

I s600 I 6440'.i.:.1,,;" 
I Net sales

(Rs. in millioBa
Liabilities 7{ :T017 Assets 2016 2017

Eouitv caoital :?lbo 2r00 Fixed assets 4200 4550
Reserve and sum,lns q80 2100 Investments 1260 1400

Debt (t;.i 2520 2940 Net current assets 840 I 190
\ sl"\'

\$. 6300 7140 6300 7140

t)
ii)

a tax6pt$pT?
.W{raI,# the

(ffidt istte
I G-ive the hrr

0o/o, calculate
NOPLAT for year 2?

free cash flow to the firm (FCFF) for year 2?
:ak-un of ihe financins flow for vear 2.

l, <-t',

Assume a
(D
(ii). "
Gi)\

r/L"^\;';
mg lrow
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t/p year (08 Marks)
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Its dividend pafr,qt:ratio isa. MN Ltd. earns a return on equity of 25%.

return is l8%. The book value per share is

Marakon model?
b.

c.

16MBAFM4O6
0.40. Required rate of
per share according to

(02 Marks)
(06 Marks)

ns","{n:

Calculate the enterprise v Ltd using the following assumptions:

D Beyond year 5, *hQ.i.rcFF will grow at a constant rate of llYo p.a.

Describe the context in which corporate valuatio-n.i

You have developed the following projectionsQr

iD PQR's unlevnrqd.cfr)st of equity 14%.

iiD After yeal^S;$pft willrnaintain a debt-equity ratio of 4 :7 '

iui rhe borro'$$g'iate of PQR willbe l2%o.

v) rneg$ip'iJ'fg%.
vi) T&es$Ffree rate is 87o.

vii). ThE.mhrket risk premium is 6%. (08 Marks)
,;it\+ ir

a. U.eder olhirn situation DCF method is applicable? 102 Markq|, ""..
b. Di$crjss the steps involved in Relative valuation. (06 Mp5t<s)"'"

ci ;"irt{liat are the aieas of activity for making value happen according to the Mc Kinsey anp.rq*h?
i, 'ji (oqitr4iks)

,.,,,r,i Case Study: (Compulsory) 
..,,1,1\i).,'
) ^." t|t

Exotica corporation is expected to grow at a higher rate fbr 5 years, thereaftel thbl,growth rate

".8i

will fall and stabilize at a lower level. The followine information is availahfbY*'

I Base year (year '0') information Revenue:Rs.4000 mffi
EBIT ( 12.5% revenue) = Rp;50$nnillion.
Capital expenditure : Rq.f,OQ.rnill ion,

Depreciat ion : Rs.20Q1gq|1fu h,

Net working capit4["q\$ldlo of revenue = 30%o,

Tax rate :40%o,1i(F.)"
Paid up equily;(lO:pbr): Rs. 300 million,
Market valuet'dfldebt = Rs. 1250 million

II Inputs for High Growth rate

l''t'r+
r:. i(.tr' --'*'\\/"

Length gf}/gh growth phase = 5 year,

Gropttli "fude in revenue, depreciation,
capital expenditure : lD%o,

g capital as ao/o of revenue = 30Yo,

lx rate :40Vo, Cost of debt : l1Yo (pre-tax),

Debt-equity ratio = I : 1, Risk free rate: l3Yo

Market risk premium : 6%, Equity beta = 1.333

ilI Inputs for the stab..l.c\","$Otvth

period. ':i,,\'-
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Expected growth rate in revenue and EBIT: 6%

Net working capital as ao/o of revenue = 30o/o.

Capital expenditures are offset by depreciation.

Cost of debt - 15% (pretax)
Tax rate - 40yo, Debt - equity ratio = 2 :3
Risk - free rate : l2%o, Market risk premium = 70%

Eouitv beta : 1.0

Calculate\keid"alue of the frm? (16 Marks)

::.s * * 't * * .'
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Free cash flow to firm

.("o"-\".)


